2012 HSC

Questions for topic completed thus far

1 A setof I3 scores is displayed in a stem-and-leaf plot.
5 o4
6 26 7
7 77 & 9
8 2 4
9 I O

W hat 15 the median of these scores”?

Ay 7
By 8
(Cy 77
Dy 78
2 Handmade chocolates are checked for size and shape. Every 30th chocolate 1s sampled.
Which erm best deseribes this type of sampling?
tAr Census
(tB; Random
(Cy Stratied
(D1 Syxtematic
3 A pair of players is to be selected from O people,

Hew many different pairs of players can be selected?

(A 6
By 12
Oy 13

iDy 30
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9 Tracy tnvests some money for 2 years at 4% per annum. compounded quarterly.

Compounded values of $1

nterest rate per pariod
Period 1% 2% mp..wwn - 4% 5%
1 1.010 1.020 1.030 1.040 1.050
4 1.020 1.040 1.061 1.082 1.103
2 1.030 1.061 1.083 1.128 1.158
4 1.041 1.082 |- 1128 1.170 1.218
5 1.6551 1.104 1.158 1.217 1.276
g 1.062 1.126 1484 1.285 1.340
7 1.072 1.148 1.230 1.316 1.407
2 1.083 1172 1.267 1.368 1477

Which figure from the table should Tracy use to calculate the value of her investment at
the end of 2 years?

Ay 1020

By 1.0382
Oy 1083
D 1360

12 Two unbiased dice. each with faces aumbered 1, 2, 3,4, 3 and 6. are rolled.

What is the probability of 4 6 appearing on at least one of the dice?

}
{A) -
o)
il
By =
ah
25
iCy ==
Ris)
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Dy —
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4 Which of the following expresses 207 (5w xfw vy = 21 i its simplest form?

(A =237+ O

(B -2yt -0y -

L

o]
B

iCy Qv x4 2

(D} 9x-—x -2
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The time taken to complete a journey varies inversely with the speed of a car. A car takes
6 hours to complete a journey when travelling at 60 km/h.

How long would the same journey take if the car were waveliing at 100 km/h?
{A} 36 minutes

iBy 1 hour and 40 minutes

{Cy 3 hours and 6 minutes

{IDy 3 hours and 36 minuies

A spinner with different coloured sectors 1s spun 40 iimes. The results are recorded n the
table,

Colour Frequency

obiained
Red
Yellow
Blue
Orange |
Graen 0
Purple 12

kd

T A

What 1s the relative frequency of obtaining the colour orange?

3
Ay —
20
! 1
(B) ool
5
Ty 6
(Dy 8

il

PAY ¢ ull
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{a)

ib)

Question 26

i

Question 27

[a}

Postcodes m Australia are made up of four digits eg 2040,
{11 How many different postcodes beginning with a 2 are possible?

() Peta remembers that the first two digits of a town's postcode are 2 and
then 4. She is unable to remember the rest of the postcade,

201401717

r

What 1s the probability that Peta guesses the correct postcoda?

him buys a photocopier for $22 800, Its value is depreciated using the declining
bulance method at the rate of 153% per annum.

What 18 its value at the end of 3 vears?

Heather used her credit card o purchase a plane ticket valued at 31990 on
28 January 2011, She made no other purchases on her credit card account in
January. She paid the January account in full on 19 February 2011,

The credit card account has no interest free period, Simple interest is charged
datly at the rate of 209 per annum. including the date of purchase and the date
the account 1s paid.

How much interest did she pay. o the nearest cent?

The capure-recapture technigue was used to estimate a population of seals
il
i 22

+ 00 seals were caught, wagged and released.

« Later. 120 seals were caught at random.

+ 30 of these 120 seals had been tagged.

The esumated population of scals in 2012 was 1% less than the estimated

population for 2008,

What was the estmated population {or 20087

Tai eurns a gross weekly wage of $1024, Each week her deductions are:
+ tax instadment of 520630

= health fund contribution of $24.30

0.

v

« union fees of 513
She also pays 53640 over the vear as her share of the household expenses.

o

What percentage of her net wage does Tai pay for household expenses?

[T

ik

[ X2
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Question 30

tcy  In 2010, the city of Thagoras modelled the predicted population of the ¢ity using the
equation

P=aA{1.04)"

That vear, the city introduced a policy to slow its population growth. The new predicted
population was modelled using the equation

P= AlpY".
fn both equations. P is the predicted population and » is the number of years after 2010.

The graph shows the two predicted populations.
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